Botany - Session 9

FLOWERING PLANTS

I. Origin of ____________________________

a. Angio = ______________  Sperm = _________________

b. Very incomplete, Fossils did not preserve well

c. Few parts, very simple, non woody (Best theory)

d. About ______________ identified species (_________ yet to be identified)

e. Reason for Success

i. Transport water and photosynthate (glucose)  more efficiently

ii. Angiosperm trees are __________________________

1. _______________________________

a. ______________________________________________________________________________________________

2. Tropical angiosperm ___________________________________ 

a. These angiosperms are considered ___________________

iii. Ovary provides protection to seed inside

iv. Good seed dispersal mechanism

1. ____________________

2. ____________________

3. ____________________

a. Fruit (seeds) are usually __________, _______________, __________ and ________ to attract animals for dispersal

v. Good pollination mechanism

1. ____________________

2. ____________________

3. ____________________

a. Develop precise mechanism for pollination by insects

i. Allowed plants to spread out more - animals could carry pollen farther

ii. Wind does not move pollen as far
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